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“BRAES ANATOMY”

HISTORY MARKING SCHEME

The following are illustrative response. The pupils may include other, relevant information. 
1. Jenner’s life: who he is, where he was born, his education, his career.

· DOB:   Born 17 May 1749; Died 26 January 1823

· POB:   Berkeley, Gloucestershire
· At 14 he was apprenticed for seven years to Daniel Ludlow, a surgeon of Chipping Sodbury, South Gloucestershire; this is where he gained most of the experience needed to become a surgeon himself
· At 21, he became apprenticed in surgery and anatomy at St George’s Hospital, University of London (a teaching hospital)
· At 24 he became a GP and surgeon in Berkeley

· At 43 he received his MD St Andrew’s University

· He was the pioneer of smallpox vaccine, the world's first vaccine. 
· He is often called "the father of immunology", and his work is said to have "saved more lives than the work of any other human"


2. His discovery: how he discovered the vaccination.
· Jenner wanted to conquer the deadly virus of smallpox. He noticed that milkmaids often caught cowpox from the cows
· Jenner’s theory: Catching cowpox prevented the milkmaids from catching smallpox; i.e. the pus in the blisters that milkmaids received from cowpox protected them from smallpox
· To test his theory, Jenner needed a young person who had had neither cowpox nor small pox.  He chose James Phipps (aged 8 ¾) and told him he could stop him from ever catching smallpox
· Jenner took pus from the milkmaid’s cowpox and rubbed it into two scratches on the boy’s arm. He called his invention vaccination
· A few days later James was ill with a fever and some uneasiness, but he did not develop a full blown infection and he got better.  Six weeks later Jenner took pus from a smallpox victim and deliberately tried to give James smallpox. James did not get smallpox

3. Importance of vaccination: a) in the past; and, b) in the present day. 

a) In the past:

· Jenner tested his theory on 23 additional subjects, but the medical profession was cautious. They eventually accepted it and in 1840, the British government banned variolation – the use of smallpox to induce immunity – and provided vaccination using cowpox free of charge
· His discovery spread around Europe and was successfully used elsewhere
· He quickly developed techniques for taking matter from human cowpox pocks and drying it onto threads or glass so that it could be widely transported.
b) In the present day:
· Vaccination save lives: because of medical advances people can be protected against more diseases than ever before. 

· Vaccines are safe and effective: they are only given after long and careful review by scientists, doctors and healthcare professionals. Very serious side effects are rare.

· Prevents the spread of disease: e.g. measles or whooping cough
· Protects future generations: vaccines have reduced or eliminated diseases that would have killed or disabled people a few generations ago: e.g. by vaccinating children against rubella (German measles), the risk that pregnant women will pass this virus 
· on to their foetus or newborn has dramatically decreased. 


· 
· Infants, Children, & Teens birth-18 
· Child Catch-up age 4 mos-18 
· College & Young Adults age 19-24 
· Adults age 19 and older 
· Seniors age 65 and older 
· Pregnant 
· Health Conditions 
To achieve a GREEN:   pupils must have three points from the above


To achieve a YELLOW:   pupils must have two points from the above


To achieve an ORANGE:   pupils must have one point from the above


To achieve a RED:   pupils will have no points from the above





To achieve a GREEN:   pupils must have all the Jenner’s steps to discovering vaccination as outlined above


To achieve a YELLOW:   pupils must have 3 - 4 steps


To achieve an ORANGE:   pupils must have 1- 2 steps


To achieve a RED:   pupils will have no points from the above





To achieve a GREEN:   pupils must write a balanced answer using 1 – 2 points from each side. The points should be well explained.  This shows evaluation. Without a balance, no evaluation has taken place.


To achieve a YELLOW:   pupils will have written 3 or more points from one side only.  Without the balance, no evaluation has taken place and they cannot achieve a green, no matter how well written.


To achieve an ORANGE:   pupils must have 1or 2 points from one side only. The point is basic and not well explained. 


To achieve a RED:   pupils will have no points from the above





Overall grade:


On the marking grid there is only one final colour assessment required for History.


An average of the three colours should be given as the final assessment. 


For example:  3 greens = overall Green


		  2 greens and a yellow = overall Green


                        1 green, 1 yellow and 1 orange  = overall Yellow. 











